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To the right is an estimated map of Australia. The grid lines in both
directions are scaled to represent a distance of 125 km. This means
‘that each square grid is equal to 1252 km? or 15 625 km?.

a. Use the right-angle triangle representation of Victoria to
estimate the area included in Victoria.
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b, South Australia and Tasmania both form trapeziums.
Determine the area covered by them both.
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. NSW and the ACT combined form a composite shape. Notice that the borders here do not sit exactly ona
grid line. Use the measurements given and the grid lines to estimate the area covered by NSW and ACT.
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d. Calculate the area of the composite shapes that form Queensland and Northern Territory. If a border
doesn't it on the grid lines, assume that they are in the middle of them.
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e To determine the total land area of Australia, first calculate the area of the composite shape below that
forms Western Australia. Combine the estimated areas of all states to calculate an estimate for the total
area of Australia.
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. Which states in Australia have you travelled to and which one is your favourite?




